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R ﬁm:mm l|NETQ'_|

E{{ﬁ.mmﬁm
SE
(C)
(D) Tl 3R yormae
6. T 19904 HE T ) v s
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(A) ferganfaa B) THiflm
(C) et D) Wik
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: gp(0L stands for

@A symmetric Periphera] O

(B) Simultaneous Pcnpherm U’;lt "D'[Hq,‘.

{On-Line
(C) Svmmetric Peripherg] Ope

(D) simultaneous P{‘.!:I'lphl:rm C'P'ﬂ‘a“ “Lin,

Off-Line

3. Consider the following Statem
Ayushman Bharat Yojana,

I Avushman Bharat Yojang, ),
known as the Pradhan Manty
Jan Arogya Yojang [PM._IA'{]

15 a scheme that ﬂ-'lﬂ'lﬂtl}hblp
cconomically vulnerable Indigng
who need healthcare facility,

Il The scheme provides Rg, 5 lakh
coverage to every f&md}r PET year,

14} Unly the statement Il is correg
iB) Unly the Statement | j IS correct

(€} Buth the statements |
(D} None of the above

7 men Can com

nequired

8 dayy »
|

(A} 14 (B} 21

9,28 (D) 7

1, i
Whlc.l! 15 the capital of Matsya

dpada ?
Al Vﬂ'ltanagara

o (B) Mathurs

(D) Kausambi

%
i Ehﬂfl.hu following is example for Sorosis

“l F'Ulitn fruit) 2
(B) Pear
g “ﬂnzﬂ {Di Jackluit

3
Mﬂflhl:foﬂowh-;g is the United N2

::'.w agency for Health ?
o :':'M Health Organization (WO
1’ ter for Disease Control (€O

10y Food ang Drug Administratio® P
\ None of the above
i ? . ’:3 ¢

(:_ :‘B ),Hla‘@

"_""T

b

L

nndl.l-nmn-m

Plete a piece of work
12 days. How many additional mmtll;

0 complete double the work in

(B) Wt fvpre it Wi~
(©) R wftieer sxivam wira- e
O) Freweiefram Ueier i -

O SR v v ¢ wt # Frefefga B T
foem iy |
1. IR v dae 41 g A
W (@.um 3 v,ama,) ofi wEa B, SnfdE E9H
FHAR WA 1 e whes  aAfad @
T TwTe gi 6 sawE ¢
I, A el wftam 1 i 5. 5 @@} FR
sk il i

(A) ¥t wew IWQ'%

(B) i?aamf!:gﬁg Bl
(C) SEATNE 11 2t s 2 it
D)/ 398 3 & wré =

10. @mﬁmmwmqqﬂmmhaﬁﬂ

/3 A W g e sifuf ot
ST g ¢

(A 14
By 21 A}
(C) 28 Dy 7 2

€
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@g _ putton ta find the first 14, mﬂﬂ'm mﬁﬁmﬁ%m_“_ﬁ-—m

i4. L:lln-l." 5 ]L.._..:}_f the data ) W fders =1 |

m'a'hirﬂ o (B) Find What (A) Brrs Jwaz (B) g Fie
(A) f-mljt - (D) None of the above IC) wigeg smee (D) I AW ﬂﬂfqﬁ
e 2Ll -

R e is used to create 15, ﬂ'ﬂ-.’qﬂﬂ- ; 1 THIT UE SR e
y FTERE * iling. )

15. -:I.;l'cfn"s-"' jor a group maf!i;g - %hﬁm% %‘qgﬁ‘l’r% I .

(A] Dwectory (B nh I (A) Zrgtsh (B) uEerH E"ljég
(C) Letters (D) Labels (C) sz (D) Sees N
: : -d i China in 16, o
oS wWere "ﬂrﬂduﬂbd n qﬁ?ﬁﬁaﬂﬁf‘iﬁ'ﬁ‘"‘_._ LN ﬁ |

= Tﬂ";ﬁ'&f (B) 1978 (A) 1991 (B) 1978

(C) 1088 () el [C] 1988 (D) 1985
e berr of students studying in 17, .

17. Th:d:.lnu:r ,:“E;% e i el ?Hﬂﬁwﬁmﬁﬁﬁﬁm 10396 % | &
sumber of girls to the total number of bays T A el ) Fe g ®1 A S
studying in the school is 52 : 61 rcspr:::thwcl:v. O HETA I 52 - 61 B I@ﬁwmmﬁm‘i
l,.1_-‘|,,-,'1 is the total number of girls stud_‘,ﬂﬂg m # .
the school 7 ﬂm e = % ?

(A} 5216 (B) 5612 (A) 5216, (B) 5612
® (C) 4874 (D) 4784 (C) 4874 (D) 4784

18. The second largest country in the world in 18, w o fEsy qu“ﬁw%ﬂ ﬂq—m??
areas |4 -

(4) USA (B] Canada B3 9;{:“'!- (B) ==t
iC) Russia Dy Chi gL
(D) China : if'; C) 'FFJ ’ (D) =g

19. H67j, m71Q, V73b, i79Q, » ¥ kgt et n 2

Al 2834 ?l;i‘ AB7b £3. H67), m71Q, V73b, i79Q, ?
¥
IC) ya3] (D) 283; Y [ (A) 283J (B) A87b
20. The police hg :

; 5 a hierarchj
the police constable and '? structur 1| 20
the two extre e at

mes of the or ani =
A) Deputy Superin gana
B) Inspector tendent of ce
() Superi
n :

) Direeoy e Of Police

21, Which of neral of Poljce
Fﬂﬂlﬁtu;e?c rﬂ!lﬁwing Commi
In the De:-p,, Mittee Wasg 21

to g
Co n B
“OUntry 5 Ng Digita] Payments

Urjit p
(B n. ¢ Pate] o,
ang : H‘lmlnu
el"a_ni

22. T FaF Hl T gaHrdat 2

’

A
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o b : :
% e y ! cMMS - ©
unt of &7 on fixation a :
e ff;; ere annually thmugh% 23. TEW HrEw 3 g & O ks
" nthesis i8 Proces, £ gfsm F T
o PROOSTL (B) 4 Padiahale s SURE Ll
i e g ax 107 ¥E
p 10" k8 (D) 4 x 1wy, (A) 4 x 10° kg el
1Ih: esl pr:'ak of P'En.i.l'lsular thuh (C) & x 109 ke (D) 4 % i
» A podabettd (B} Anaimugdj 24, mmﬁmﬁﬂa‘mt
o mﬂahonda (D) Mulla”“mi (A) drerEm (B) mﬂﬁﬁgﬁﬂ
nopkeePer carns a profit of 12%oq g 7 (€] () 3 oo ot
# .,:uukm m'rudiscautrlg.-nthg pn-m,d;:f @' “mﬁwﬁﬁﬁm;ﬁﬂmﬁ
The rafid of the cost price and the Fnlﬂ.td FEERi ]2%%131“ ﬂﬁamﬂ‘r [
tl ice of ithe lmﬂk 15 maﬁﬁwm Hawmwt ?

0 47 50 (B) 45:51 (A) 47 - 56 (B) 45 .51
L () Aeres (C) 45 : 56 @ 475
1 the Wacker process: the axiclation of 26, R pEA R _— §, s .

" hyne 10 —— is catalysed by PdCL, oct g A At
! 5 :
] Ethene (B) Ethanone () TR (B) $F
) Ethanol (D) Ethanal (C) T (D) ‘m;
- ieren faed 1 —
s During cettlement process the transaction | 27 e , Y
I s are deposited it your primary bank v a8 T
account with hours.
(4} 5 hours ,hl oW
2 hours ©) 43@1}“@1
(C| More than 48 hours . D g4 A8
94 to 48 hours n
e : 2. mﬁmﬁam-mm&wﬂmmﬁ
4 Which of the following is & mostil ggaw &
cause of 10ss ofbiodi"-’ﬂrﬂt!f?‘ (A) Sy B S EER
(Al Habitat loss and fragmer Eﬁ% (Bl ELER
(8] incti : (C) g e ST
(] Alien species invasion (D)
D) Over-exploitation |20 e #, 940 ﬁﬂﬁg:ﬁ
8. InHaryana,l ,;nwﬁgﬁﬂﬂﬂ“ﬁdm wafedd? (ame‘,.q.m.:mi arfra 3 3
ute (AR Region al centre 0% () FEAE (B) wrewh
I;:Ihmxm ] = (B) Mobs) c) feam (D) e
: Ruhlﬁk ; =t
C) Hisar (D) e P
l“ . e 19363033,?
Complete the serics: () 39 B 37
l;;f;' i @ % (©) 31 (D) 35
) 35 el s & FEE P E 7
© 31 (12 3L
1 prakas” o ) T
. Who wrote “Satyarthé (B) TR HIE T4
(A} Annie Besant (c) = faTe
B) Rejaram Mohan (D) T !
s B
mDaymandﬂSarﬂﬂ“m - Q’{\\\ﬂ?’a‘ ,.i?r
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Environmental enteropathy affects
(A) Respiratory system (B) Spleen
(C) Intestine (D) Liver

3. The electrolyte of mercury cell ig g paste of
(A) HgO and Carbon  (B) KOH ang HgO
(C) NaOH and HgO (D) KOH and zno

4. Who 1s the present “Permanent
Representative and Ambassador of
India to the United Nations” ?

(A) Nirupam Sen

(B) Sneha Dubey

(C) Devyani Khobragade
{D) None of the above

5. Which of the following is a macroeconomic

variable ?
0

(A) Price of a good

(B) Firm output

(C) Individual demand
(D) Aggregate demand

36. Charles Horton Cooley coined the term

‘Primary Group’ in his book

‘Social Organisation’ in the year

(A) 1908 (B) 1909
(C) 1906 (D) 1907
37. Which ofthe following is not a member ated
Nations Human Rights Council {U}l‘ 42
(A) France (B) Chu
(C) USA (D) Pakistan

38. Biogas do not generate the gas
(B) Hydrogen
(D) Carbon dioxide

(A) Nitrogen
(C) Methane

39.  The heating element of an electric iron is made
up of
40 (A) Aluminium

(B) Iron
'_t}' % (©) Copper

(D) Nichrome

Ornithology : Birds :: Cardiology : ?

(A) Heart (B) Brain
(C) Kidney (D) Bones
> The maximum number of elected members
In Lok Sabha is
() 545 (B) 238
(©) 543 (D) 542
M8 . b\
q \'\ ;\3 '\

N

2 Jf’f/\/i/

cMMS - S5

2. Wiy siafgh sgnf Tl e |

(A) vage gorreft -

o iy
33, o - \ & T

(A) Hgﬂa?hga (B) KOHﬁmhggg

(C) NaOH 3l fig0~ (D) KOH 32D W
4. 2 3 g g o AT

mym%{

(&) Fem s

(B) werga

(C) Z=arh

(D) 37t § & RS el

frefag A g FA-a R

A) 19.::;1

(B) 1909
(C) /1806 (D) 1907

a7 ﬁﬂaﬂm —g1 FA15EE AW THA TSLH,
Frf (.00 I ) T T AN 7
(A) FTE (B)
(C) 3TW.T. (D) ferEaT
38, amiE T Iea el Ll |
(A) TG (B) EREIH
(c) # (D) Tl SEATFaEE
39, U@ faga SAE 1 FoH a6  HIEATEAR |
(A) Tephfm (B) @rer
() @l (D) ATgsHm™
a0, veh FEe vt - g fagm - 7
(A) & (B) wftws
() T (D) &fgaf
4, Wﬁhﬁamﬁaﬁmm
7t?
(A) 545 (B) 238
(c) 543 (D) 542
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47.

e cX nfﬁﬂiﬂ Chmrpcrsun of the Mﬂnctm.y
icy

uty Governor of RBI

Dep
I;; Gavcrnur of RBI
€ Finance Minister
None of the above

(D)

AD array of roles attached to a particular

status weul

) Role performance (B) Role set

(C) Role conflict (D) Role strain

Find the odd one out :

2, 3,5, 7,11, 13, 17

A7 (B) 13

(C) 2 (D) 11

The magnitude of earthquake is measured

through

(A) Barograph (B) Richter scale
(D) Gutman scale

(C) geismograph
Jex weather system that appears

i h to seven ycars ringing
three e 5
grrm: ﬂ:.rﬁuads and other weather extre™ mﬂiﬁﬂﬂmint
10 different parts of the wor (A) @n-Fin (B) Tn-drl
(A) La-ninja (B) La-sal" (c) @ -fr (D) TE-HE
(C) El-Nino (D) El-® :
h!i.tﬂ 47T. gﬁﬂmﬂﬂﬂ:ﬁﬂﬁmﬁﬂm
R basically 8 YPe T *'t;r'::;um m.wﬁtﬁm,mw
mantained by a7 individual ¥/ opic e @ Pt s & W
entries Of nl:)'-l'_ﬂ:ﬂ “‘T"‘“ P al thought®: ,@ﬁaﬁrﬁhumnwmmﬂmtl
description (A _— (B)
1‘:? ;E;zn' (B) ch;ﬂf:‘I (C) Fu U (D)
51

(C) web page (D) %€ cumbre 48. mmﬂﬂ.iﬂsﬂﬂhﬂmﬁfﬂ

ds, wh the & ime waremgeh 4 Prrfrfra # A firw T =
The La palma Islanc® first & §7
Vieja volcan? has €™ s Ia;d'l.i'lﬁ followiné Towsl
in E!rﬂy::a.rsi js a part of wh (A) e (B) feht
countries 7 B) chile () T . (D) &
(A) Italy o) P e 49. Mmﬂmwﬁﬂﬁﬂm-_ £
(C) Cuba , 1i“:‘,_u-“,,;awr1’“‘“" (A) e st
Data collected py the i (B) gt stwd .
(A) Secondary datd © AT Ak i /\ q \)
(B) primary d8t8 [mg-rm:sﬂd/—q e L

ta Ve daté ) r / b—-‘_//
(C) Quant! gl 2 y 9 4 ﬁﬁ
(D) Qualita® 9 o r A T
Downloat j e S 3
I ro . .

a Ld 40 ;E/\&jﬂAA/.MSEdUCatIOI’]TV.COm

43.

43.

45.
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m:ﬂﬁﬂﬁﬁtqﬁqmqﬂmg
(A) 31,37, & 39 T
(B) . af, 3k, F T
() fam =it
(D) I § & wrf 7
wﬁhmﬂgﬂ@mﬁﬂqﬁmg
(A) Wnﬂh (B) Wﬂz
() viftrem wwrd (D) i A
fiorn ®) 3 i
2, 3,57, 11,13, 17
(A) 7 (B) 13
(C) 2 (D) 11
Wﬂ!ﬂiﬁﬂmtmnﬁwﬁt?
wﬁm (B) P &
(c) feredor® (D) TR
aﬁaﬂm:«wﬂﬁnrﬂ:ﬂmaﬁﬂmw
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itk
E

50

51

52.

57.

W

'j-__

Wwhat 18 the term of the elected
rcp:asenlatives of Lok Sabha and

vidhan Sabha {Asaembl}r] ?
(A) 6 ycars (B) 4 years
(C) 5 years (D) None of the above

Movemenl of waler
(A) Osmelosis

(C) Dsmukmlnsis
Which of the I‘n:rll_nwing consists

of Terms ol credil : ,
(A) Collateral and documentation

requirement

(B) [nterest rate
(C) The mode of repayment

(D) All the above

by diffusion is called
(B) Osmosis
(D) Osidosis

Sleeping sickness is caused by

(A) Trypanosoma (B) Entamoeba
(C) Plasmodium (D) Paramoecium

allows you to view the

presentation file on & computer that does
not have the PowerPoint installed.

(A) Page layout (B) Print preview

(C) Package for CD (D} None of the g

_ is a way of showing *
memory of a computer systerr
effectively larger than it really

|A) Logical memory

(B) Main memory

(C) Virtual memory "

(D) Physical memory

i
pear

provides Gradient, Texture,
Pattern or Picture effects to the slide.

(A) Fill effects (B) Color effects

(C) Automatic (D) More colors
s 15 a program or portion of a program
which lies dorment until a specific part of
Program logic is activated.

A Logic bomb (B) Worms
() Torjan horses (D) Virus

W
is "Litup;:-‘thf;tafuc of the earth’s land area
together ? biodiversity hotspots put
(A) 2%

[C) 609 (B) 50%

(D) 10%

51.

52.

53.

54.

57.

58.
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(ateett) & Fraffem sfaffing
F e fan A @ 7
g B) 47
(C) 5w (D) Fir % 3 29
Forew g et 1 7 ) e €
(A) St (B) st
(C) seirienfE (D) HfesiEn
freafirfiae & & s weon o6t i wifie & 7
(A) Harfodes S FEATATAY] i ST
(B =ur4 &t
(C) it 1 =
(D) It &
fmim____ zmEa@ Rl
(a) fdararr (B) CeaHE
t%‘%ﬁﬁﬂ (D)
;mmmqrﬁﬁmﬂ%ﬁh
¢ Ryerl TiaTiz FRFE AL |
(A) 1 BaAIE (B) fire freg
(c) Y i El. & D) vH @ F T
iRy A
mﬁwwm!mﬁnmﬂwm
e g @ a2 R |
[w i 3l
B
(c) e Al m
(D) ffeeret
e W v, e, ¥ed o faa i
e € |
(a) et TFRE (B) FeH THHH
(C) (D) i e
@mtmﬁﬁmﬂm & g
@tﬂﬁﬁmﬁmﬂaﬁmmﬁﬁﬁmw
fr 781 T Fe | |
(a) S A o
[c}ﬂi:[ﬁﬁ'a D) @
gﬁﬁﬁﬁﬂmmﬂﬁmmﬁﬁ#ﬁ
mm'ﬂ;ﬂﬂmﬁ !
(B) 50%
s (D) 10%
(c) 60%
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S B e
:l--_' a e = ]
s and 1in seconds. The frequeney of A A el x oy . H af oy ke B ) Al A
e s e
z 6 .
o B3 @) ¢ ® 3
x
4 oy &.-
CE e © g0 @ s
. uhich of the following Polys i . =
. ; i ysaccharide made 60. frafefas & @ F¥5-m RIGIGER A D IR R
?
|§ Lagtose (B} Ribose ql-hm};aﬂ B -
i€} Starch (D) Maltose (C) = s
(D) =™
i The average of five numbers is 28 AT W afa el 1 wem
gerage of the first two numbcr::ia EBIIIJ Tmh; o - g BHLY o -
the sverage of the last two numbersis 1785, M iso S vk ¥ 2 el st 178.5% |
What i the third number ? #rel wEm - 27,
[-;| i;i (B] 336 (A) 228 (B} 336 {L:“"'-.
I (D) 464 (€) 488 (D) 464 -
i WT8, UQD, SMG, QHK, ? 2&2 w-pﬁ > /sﬁ}t; “‘Q:ﬁ W ¢
- s ! sk ! ?
) PBQ (B) OBP : (A Qﬁm
G ocp (D) OBQ Lé? ocp :3 o
% The British establis i '. oBQ
. s hed three High Courts 13 Tee
india for the first time in ' i? bade M o 4 3 ATt
s T 7 i
mbay, Madras, Delhi (A) oD,y fmeh
'8} Pune, Calcutta, Madras (B) @ 'q-:aq;ﬁt,
o . » HETH
:DI Calcutta, Bombay, Madras (C) T, afey o %
| Caleutta Bom i * ;
, bay, Delhi (D) =T, afey faeeh
i
" Radh s
s school bus is facing north when | - 64, T T
the "aches her school, After starting no TR R aﬁt%m% e
s : \ S
Ta's house, it turns right twice and e T ®|EH
th qﬁ g
d.m ].E:f[ be[ﬂl‘t Ttﬂ.ﬂhiﬂg the gchl.'ﬂ'l. What ﬁl“@ % wm “Rm
Ireps: < it left the l
ion was the bus facing when i ¢ mﬂﬁ‘i‘lﬁm m%m%m‘-ﬁiﬂ
5 ,
S10p in front of Radha's hous® 4 (A) =i HH‘! ﬂm §
L"] %uth (B) west } e
(B
[(‘.] EEEt {D] Hﬂﬁh [C] ‘ﬁ ) ‘I%.q
i\ (D) I
e : ‘:v[{ CL’ r}ﬁj - £, UD e)
\ by’ g
N\ e <R

. : o T M
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65.

67.

68.

B

'y
.l".-

70,

Tl

Ms

0) ey

This question is based on the given alphabet :
A;;:DEFGH [ JELMNOPQRSTU
vWXYZ . |
| every alternate letter starting fmn-:f B is
dg]ﬂiﬂi from the given alphabet, which of
the following will be the tenth letter from the

right end ?
Al Q

I€) G

A is older than B but younger than C,
0 is vounger than E but older than A. If C is
vnuﬁgcr than D, who is the oldest of all ?

Al A (B E E;}éﬁ
[

() D (D) C
The difference of the ages of Rohit and Axar
is 12 yr. The ratio of their ages is 3 : 5. The

age of Axar is
(A} 28 yr.
(C) 32 yr.

B) P
(D) D

(B) 30 yr.
(D) 24 yr.

Rajiv Gandhi Khel Ratna Award was

renamed as

{A) National Sport Award

(B} Bharat Khel Puraskar

(C) Major Dhyan Chand Award
(D) Pradhanmantri Khel Award
A parallelogram is cut by two &

m lines parallel to its sides. T
paralielograms thus formed

W iy By
(D] None of these

iber of

In ﬁ._ugust 2020, which of the following has
r@:cw::d clearance from UIDAL to carry out
e-KYC authentication using Aadhaar ?

:2: :;DEL (B) NSDL
s (D) Info Edge

il is ;
OPposite of P Kis n l‘:ﬂﬂ:? T.Yis not
Tand g B and N is

whoi& httmnumﬂ?

(A) p
(C) x B) Y
D) B

=10-

. TS

(A

65,

67.

70,
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T fow 2 aurte) e sqfa € -

ABCDEFGHIJKLMNOPQRSTYy
f““'?f‘s’gf !f-!\.:ﬂ s = o o
e R g serd] & B @ smiw B4 T ¥ T

o ¥ fa wime, A and @ @ Z@al w9 @ A 7
) Q (B) P E&ﬁ
€ G (D) D

ABITEIRgCATIR ID, ERBRITGAD
T gk, pATa R, ATR AT FAR?
(A) A (B) E

(C) D (D) C

Ufew 3 st &) 35 o1 sfae 12 @4 § | 3T 3
ﬂﬂ@ma:s%rmﬁm%ﬂﬂ%?

(B) 3034

(D) 24 =4

e

tfia it Berer o | AT Fw0d
g

(A) T A vard

(B) WWa e G

(C) B e HaTd

(D) yoEEEt de aETd

T i # IFE g F T m
Tt & 2 wgEi § wver s # | vw v A ae
IS 1 aem

(A) (='C,)? (B} (=C,)?

(C) (=*C,)* (D) %8 & 18 78
are 2020 #, Fr=ferfias # @ 68 saum = vl
wE §-Harf . (e-Kyc) wanfrrm =03 % fi
3 A ank. @ sl fireh & 2

() #.¥..m. (B) uH.vH & um,

(C) FEIMBMAM. (D) TwEiTe

8@ M, N, B, H, T, K, P 3 v v gamam 24w
% aril i 33 & Aredl B, P %9 sl @ 7w 29
FrHMMTHFAAAR |y, PR a2 K B e
siadmu N, Tol kK Ffgdg
MasmNFFRiaRL?

(&) P
(€ K

B) Y
(D) B

-

- Doyvn[_qad from VW\AN.l\/ISEdUlﬂaﬂ%nT\éCOﬁI e



(A) SR FH
(B) Hew G
(C) 51 HRF
(D) & ®FH
M Pl L St
whfafr#m e ?
(A) . tehe . A
(B) mrfz @A
(C) wh=T- FF
(D) I & @ & AW
1z lﬁﬁmwﬂaﬁﬁﬁ@ﬂ#:mmﬁaﬂ
"w/ 'ﬁrﬂiﬁlumﬁﬁwﬁﬁaaﬂ? ;
(4) 3% (B) 4% .
) 2 (D) ?g'
) { @ @;mavrﬁgq?zg
N :%T@:nﬂ;dﬁ%wemﬁmﬁgﬁa
o oM N T .
(A) 294 (B) 176
(©) 196~ (D) 312
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B1.

B2,

B3,

100, 95, 90, BS..
(A) 92
75

“l

count 21 letter in the English alphabet
If you 4 and 20 letters from the beginning,
Ir:l:: ﬁguer will exactly appear in the middle
:;'the sequence thus formed ?
Al K (B) M
(C) N (D) L
A copper wire of length 36 m and '-Jliamedi_el-
9 mm is melted to form a sphere. The radius
of the sphere (in cm) 15
(B) 4

(D} 3

(A) 2.5
(C} 3.5

The President of India can be impeached
by the Parliament under Article

(B) 61
(D) 55

EIE
oL D]

(A) 52
(C) 54

Ravish saw the advertisement of Samsung
mobile. He placed an order and it was
delivered to him 21 days after he saw it

online. He placed the order 10 days before
he received the mobile, which was Monday.
On which day of the week did Ravish see the
advertisement ?
(A) Friday

(C) Thursday

(B} Tuesday
(D) Wednesd®

Find the missing term of the foller aes ;

(B) Tt
(D) 80

ge!m the correct mirrgr image of the given
Bure when tl;c mirror is placed at line AR

(D)

-121-

?gu

81.

B2,

83.

B4.

- vy
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TR ST siiteh sefren 3 ig @ 21 JER A ey
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) K (B) M

IC) N (D) L

36 e ward i 2 fieft s et A F AR A
Foetmant e iven amman s 2 1 vt o fan
(Wit

(A) 2.5 (B) 4

(€ 3s (D) 3

Mttt gy o e g fre =0 ¥ @e
W S e 7

(A) 52 (B) 61

(C) 54 (D) 55

T Ll ke 1 frgrm e | 3o dmn
FL 3 R o 7w 3@ 21 frlt  gyd fem
I AT T W | 36T Wede ST |
"0 o7 wgst et w1 s Rar wr | Rrg B Smaw
1 | it 3 e & e R R 2m e 7

(A) EFER (B) HeEnr

(C) Jeam (D) g9am

Frefofn Jae & ga v %ty Hifie
100,95,90,85,

(A) 92 (B) 70

(C) 75 (D) 80
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English Language
oms followed by four alternative

marked (A}, (B), {€) and (D).

;fﬂﬂlﬂgs'
= u think i1s the most

Mark the onc which yo
up;lmpna{c.

To bury the hatchet
(A} to purchase something without

discretion
(Bj toact ina suspicious manner
(C) to make peace
(D} to have found a treasure

92. Fill in the blank with appropriate form of the
verb from the alternatives given below it ;

Thesun by day and the moon by
night.

(Al Shining (B} Shined

(C} Shines (D) Shone

93. Fill in the blank with appropriate words
for cries of different creatures from the
aliernatives given below it ¢
Lambs

(A} crouk

[C) bleat

(B) buzz
(D) bray

din the blank with suitable articles from
the aternatives given below it

He slew seven at

____ blow,
s B ngl
IC) the 8
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(A) M5 o 3oy
(B) 9 ) ve -
©) 53 v il
(D) vt & i =

97. W, Wi, Rt sty s
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(©) st
(0) et
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(C) W T
(D) ¥ & =1d 7l

99. fRvaEiwmwmdirmd,d  w=
weea § |
(A) sFadi
(8) vl
(C) Sy




